2 B RANA F iiZde HE bE Ae ol s e
gt Aolct. LOAD = £OCB, LODA = /OBC¢l °]{+&?

AD
LN

[7}8] obABCD °llAl AB//DC, AD // BC
[2£] AO = CO, BO =DO
58] AOAD £} AOCB | A YA o] T o] dol= Zo

AD=BC---O
AD//BC o]|R &2

/OAD = /OCB ---©
/ODA = /OBC ---©®

@, ©, ©°1 2J314 A0OAD = AOCB ( ASA %)
.. AO=CO, BO =DO

i)
H
)
R
®
Y
3
®
off
mie/
3

@
@

»2,
)
©
okl
L



2. ok 1" 7o) AD//BC Q1 A& ABCDOlA OA : OC =1:2
ot} AAOD 9] ¥lo]7} 18 € wj, nABCD 9] Yo]=?

@® 148 @ 150 ® 162 @ 175 ® 180



B3P ABCD 9] AB, CD 91l AE =
CF7l He5s % A E, F & &< 1 oBEDF
7t HPAPH G o] HE= 207 I duke

AL?

® AB//DC, ED//DF

@ (EBF = (EDF, /BED = /DFB
® AD =BC, AB=CD

@ AB=CD, AE=CF

® BE//DF. BE = DF

A



4. o 2 Zo] PPAHY ABCD o] Y7o F H PE S T
OABCD 9] 0]+ 60cm? ©]11, AABP 9] Y o]i= ACDP 2] Y o]9] 2
#i < o, ACDP 9] §olE 5 ?

A D

® 5cm? @ 10cm? @ 15cm?

@ 20cm? ® 25cm?



5.

,_.__.O_.O

&

T

N

© A4

® A

0.0 206 006 ®66e 066



@ 27 @ 37 @ 4 7Y ® 574

@ 1M



ohe 239 BPAHE ABCD o &3
A oA /D 9] o]5&4 DF of W7l 4o
DF , BC ¢} thit+= %7y G

o B=g80°Ld W, x=]  ]°olth
[ e

@® 45 @ 50 ® 55 @ 60 ® 65



th& 13l BD& 2AZE ABCD O] A

E

tjZtAelt}. /ABD, /BDC 9] o] 52 40]
AD, BC o Wb AL A7 E, Fe & o,
DE = 8cm ¥ ], oEBFD 9] E#+7

O

@ 30cm @ 32cm ® 34cm

@ 36cm ® 38cm




2 A 14 ABCD = g ¥9] Zoj7t4em
o|al /PCQ = 45° A4, AAPQ O] Edo] A4
ol=?

@ 2 @ 4 ® 6
@ 8 ® 10

45

Q



10. ©oF3 237 22 AAE ABCD ©] ¥ AD, BC 9]¢ BE = FD7}
A= HE FE FS o, gEBFD & o d A 1717

E

A D
BY— C

O sUATEE @ FA4Wd O niEn

@ A2 ® A



oltt. 1~w %

oA

nfe=1=]

Haater,

ol fiH:

Wzte] 2717} 90° olck

5

@ =.



d

pid
[e]
.:(7

»y o

@® AB//DC, AD //BC
® /A =/B, /C=/D

® AB=DC, AD =BC

F=51= oABCD 7} B A A v D

LN

@ AB=CD, AB//CD

@ OA =0C, OB=0D



13.

A




14. £ TRel4 AD//BC°I R A M2 BC2| $4eleh aDMC =
15em? Y o, AABC 2] Ho]& Esfoizt,

A D

® 20cm?

S
&
El\')

® 10cm?

@ 25cm? ® 30 cm?



15. ok 28ol4 4 ML BC | F30]3 AP = 2PMo|t}h. AABC =
60cm? &, APBM 2] Ho]&?

A

oy
=
Q

@® 10cm? @ 15cm? ® 20cm?

@ 25cm? ® 30cm?



